GCMTI RD-2: 2020

7 %R
(fg B 1)

(N

LLR 2 8 2 B3 56k .

S1. B HE by 1 VA WK IR AR T R R

. W (= /T
" segp 1| Megho | g3 | g4 | LS
UK A 20 40 80 120 160




GCMTI RD-2: 2020

S2. UMt 2 1 o

a1

S A . Thermo Scientific TRACE 1310D5 3 & 3% 1%,
Bt 25 AS 1310 H zh HUFE 28

K6 ) 2% KA B T AR g

¥ Restek Stabilwax-MS?, 30 K x 0.25 ZK x
0.25 f K

WA AR, 4iE 99.999%

T 1.5 ZTJF / 5 b

HE A A A, R EL 5001

pran i 220°C

¥ P 2% W E - W 220°C
AR E: 350 = TFF /A
AME: 35ZT / kb
IER T E: 40= T / 4 Bh

HEFE 1tk Tt

THR 7 Witk 40°C, R 15 0485, L& 2% 20C T

£ 190°C, fR¥F 4 7%

1) TRACE 1310 /& Thermo Fisher Scientific #2 fft /] — Z S A & 3 4 1 7 5 4% K o
AR IAZ AL J7 8 A J7 vk A6 M 42 ft, JF AN A Rl R AR O B A
Al o W1 RETE B AT DL A A R g5 R, W) R T fdE A [ AR R

2) Restek Stabilwax-MS & Restek #i& fif (] — 3K 5 3 A 19 5 & &2 R . R DUE B ALK
P N I 2 R T 7o S S N v 95 B S0 B w2 Yl < 07 N I (1 = 7
1D RSRE o i< I il e 171 e I = I i T

B/ o2 o, o8 W



60000
55000%
soooog
45000%
40000%
35000%

< 30000%
25000
zooooé
15000%
10000%

5000

GCMTI RD-2: 2020

A1

250000
2400003
2300005
2200005
2100003
2000005
1900003
1800003
1700003
1600003
1500003
1400003

< 130000%
1200003
1100003
1000003

900003
800003
700003
600003
500003
400003
300003
200003

Time (min)

e HE b VS W Std-AS I BRI (1 = KA, 2= 28)

100003

A 2

T
4

T T T T
14 24

Time (min)

2 HE b AE 5 I Std-AS R i op 25 25 9 bR LY A6 54 98 BT I X
MEEEA = ok, 2= LMk, 3= %W, 4= 8§68,

5= 0Kk, 6= 25, 7= /KK FHE)



|

%l 2
SO o A

N
7

GCMTI RD-2: 2020

Thermo Scientific TRACE 1310V AH o 3% 1%,
Bc % AS 1310 H 3 HUFE 8%

ARIE T T AR I g
Agilent HP-5MS?*), 60 Kk x 0.25 &KX x 0.25

o W 4
FE
oK
B/ A, 4E 99.999 %
I IH 1.5 =7t / 7o
BEFE T 2 S, iR b 5001
HEFE AR R 220°C
220°C

o I 48 B € - 6%
FRWME: 350 & T/ s
AWM E: 35= T/ kb
WA WE: 40T/ 24

HEFE & 1 T+
GARIY = WG 65°C, REF S e E, UESH 1CHE
80°C, LRFr 05 %k 5 LL&E 48 20CH+ 2 190°C,

R¥F 3 70 8b

o A

3) Agilent HP-5MS /& Agilent Technologies #& fit it — K € 1% A 1 7 4 B
TG B A Oy J7 8 A J7 vk i AL 2 4R A, JF AN Ml T AR 2O bR e i A AT

L =TT A I e S 2 B i i SO 11 7 T 2= B T i
* 8 m

o4 0,



60000
55000;
5oooté
45000;
«ummé
35000;

< 30000;
zsooté
20000;
1soocé

10000

GCMTI RD-2: 2020

4

A 3

150000
14000(é
1aooocé
12000(rf
1 moocé
10000(rf
gooozrf
sooocé
7ooozrf
sooocé
SOOO(é
4ooocé
SOOO(é
zooocé

10000

sooch
ST

L LA LA JL L L . L L LIS LA L LA L L LA BULL I
6 7 8 9 10 " 12 13 14 15 16 17 18 19 20

Time (min)

R UE b HE VA W Std-AS B XTIE i & (1= WK A, 2

i

= %)

A 4

T T T
12 13 14 15 16 17 18 19 20 21 22 23 24 25

Time (min)

T T T T T T T T
26 27 28

A2 HE bR AE 5 I Std-AS R i op 25 25 9 bR LB A6 54 98 BT 9 X
MEEEA = ok, 2= LMk, 3= %W, 4= 8§68,

5= 0Kk, 6= 25, 7= /KK FHE)



S3. MIFMIMMEMEMERER TR 1 2K 4.

GCMTI RD-2: 2020

R G S2 B 1 AR B A% AR AT DY b B HE I RS B RE AT HE 1

JE B4
ERf TR R R
=Rz X irEmE | AR E | BERE (%)
(%) (%)
oK 0.30 1.99 96.9 - 103.8

R 2 AEH S2 B 2 ARt A AF AT DY b B HE I RS B RE AT HE 1

JE B4
ERf TR R R
=R X iREmE | AiRERE | BERE (%)
(%) (%)
KA 0.43 1.73 96.3 - 102.8

R3O AEH S2 R B 1 AR B A% AR AT A b B HE I RS B RE AT HE 1

JE B4
ERf TR R R
=R X irEmE | AiRERE | BERE (%)
(%) (%)
oK A 1.40 3.09 95.4 - 103.4

R4 A S2 B 2 AR B 5% AR AT A b B HE I RS B RE AT HE 1

JE K4
ERf TR R R
=R X irEmE | AR E | BERE (%)
(%) (%)
oK A 3.00 1.88 92.9 - 101.4
% o6 U, I 8 W




GCMTI RD-2: 2020

S4. N EHRBRIFERRI R BB MR ERIER TR 1 2K 4,

R G S2 B 1 AR B A% AR AT DY b B HE I RS B RE AT HE 1

FE 2 4
5w E
=R A XF 5 1w 2= BE (%)
(%)
K Fr 0.54 93.9 - 100.1

R 2 AEH S2 B 2 ARt A AF AT DY b B HE I RS B RE AT HE 1

FE 2 4
5w E
=R A XF 5 1w 2= BE (%)
(%)
K Fr 0.71 94.5 - 103.0

R3O AEH S2 R B 1 AR B A% AR AT A b B HE I RS B RE AT HE 1

JEE K A
R
=R 8 3F 5 #E i 22 B W R (%)
(%)
oK A 1.60 93.1 - 105.8

R4 A S2 B 2 AR B 5% AR AT A b B HE I RS B RE AT HE 1

JEE K A
R
=R 8 3F 5 #E i 22 B W R (%)
(%)
oK A 2.97 90.7 - 108.6




GCMTI RD-2: 2020

S5. M T I b 3R AF 0 A A 7 B Mg 1 A 2 IA) B ORG o BE Hodls BT AR 1-
2,

R AEH S2 AR O S AF AT P bR B AE R, AR PRl S A 2 TR

A 1 B A
5w E
=R A XF 5 1w 2=
(%)
K Fr 0.90

® 2 M S2 AN A AF AT AR A HE I, AR PR 1 A 2 TR Y

RS S
R
=R 8 3F 5 #E i 22
(%)
Vi 2.88




